



Irrational numbers also satisfy the commutative, associated and distributive laws for addition and multiplication. However, the sum, difference, quotients and products of irrational numbers are not always.

e.g.,  $\sqrt{5} + (-\sqrt{5}) = 0$

$\sqrt{15}/\sqrt{15} = 1$  are rational.

$\sqrt{3}$  is irrational.

Hence,  $(5 + \sqrt{3})$  is also irrational ( $\sqrt{3}$  has a non-terminating, non-recurring decimal expansion).

**Note:**

The sum or difference of a rational number and an irrational number is irrational.

The product or quotient of a non-zero rational number with an irrational number is irrational.

If we add, subtract, multiply or divide two irrationals, the result may be rational or irrational.

**10. Radicand:** If  $a\sqrt[n]{b}$  is a surd then n is known as order of surd and a is known as radicand.

**11. Laws of Radicals:** Let a and b be positive real numbers. Then,

- $\sqrt{ab} = \sqrt{a} \sqrt{b}$
- $(\sqrt{a} + \sqrt{b})(\sqrt{a} - \sqrt{b}) = (a - b)$
- $(a + \sqrt{b})(a - \sqrt{b}) = a^2 - b$
- $(\sqrt{a} + \sqrt{b})(\sqrt{c} + \sqrt{d}) = \sqrt{ac} + \sqrt{ad} + \sqrt{bc} + \sqrt{bd}$
- $(\sqrt{a} + \sqrt{b})^2 = a + 2\sqrt{ab} + b$

**12. Rationalising the Denominator:** When the denominator of an expression contains a term with a square root (or a number under a radical sign), the process of converting it to an equivalent expression whose denominator is a rational number is called rationalising the denominator.

To rationalise the denominator of  $\frac{1}{\sqrt{a+b}}$ , it is multiplied by  $\frac{\sqrt{a-b}}{\sqrt{a-b}}$ , where a and b are integers.

**13. Laws of Exponents**

- $a^m \cdot a^n = a^{m+n}$
- $(a^m)^n = a^{mn}$
- $a^m \div a^n = a^{m-n}, m > n$
- $a^m b^m = (ab)^m$

Here a, b, n and m are natural numbers. Here, a is called base and m and n are the exponents.

**e.g.,**

(i)  $(17)^2 \cdot (17)^{-5} = (17)^{2-5} = (17)^{-3} = \frac{1}{(17)^3}$

(ii)  $(5^2)^{-7} = 5^{2 \times -7} = 5^{-14}$

(iii)  $2^{\frac{2}{3}} \cdot 2^{\frac{1}{3}} = 2^{\frac{2}{3} + \frac{1}{3}} = 2^{\frac{3}{3}} = 2$